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3P 30Ax2 |3P 60A | SCTGO3K2 68,200 SCTB03K2 44,400 o]
3P 50Ax 2 | 3P 100A SCTGO05K2 81,800| SCTB05K2 48,000 600 | 400 | 140 @
3P 60Ax 2 | 3P 100A SCTGO06K2 81,800 | SCTB0O6K2 59,800 L]
3P 75Ax2 | 3P 150A | SCTGO7K2 101,900 | SCTBO7K2 64,500 o]
3P 100Ax 2 | 3P 150A SCTG10K2 105,100 SCTB10K2 64,500 700 | 500 | 140 | ® |
3P 125Ax 2 | 3P 300A SCTG12K2 129,400 | SCTB12K2 81,400 o
3P 225Ax 2 | 3P 400A  |SCTG22K2 151,000 | SCTB22K2 129,900 900 | 500 | 160 | ®
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3 30Ax3 |3 100A  |SCTGO3K3 90,600 | SCTB03K3 59,000 o]
3P 50Ax 3 | 3P 150A SCTGO05K3 112,300 | SCTB05K3 64,300 600 | 600 | 140 L
3P 60Ax 3 | 3P 150A SCTGO06K3 112,300 | SCTB06K3 73,200 L
3 75Ax3 | 3P 200A | SCTGO7K3 141,700 | SCTBO7K3 gagoo| [ [ Te]
3P 100Ax 3 | 3P 300A SCTG10K3 149,100 SCTB10K3 84,600 ®
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